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#### Biost 517: Applied Biostatistics I

#### Emerson, Fall 2012
#### Annotated Stata Log File: Homework #3
#### October 28, 2012
#### In this file I give the Stata commands I used to produce
#### the key to Homework #3. In order to properly format

#### a table useful to casual readers, I cut and pasted some

#### of the output into Excel.

#### Comments edited into the log file produced by Stata are

#### on the lines that start with the four ‘#’ signs and are

#### printed in italics.
#### The Stata commands are put in bold face.
#### Stata output is displayed in regular typeface in blue.
#### Start a log file to record commands and output
----------------------------------------------------------------------------------------------------------------

      name:  <unnamed>

       log:  z:documents\teach\courses\b517\f12\hw3Stata.log

  log type:  text

 opened on:  28 Oct 2012, 07:24:34

#### Read in data: The insheet command could be used with a “.csv” file. “quietly” avoided

#### Stata printing output about missing data

. cd z:documents\teach\datasets

Z:\documents\teach\datasets

. insheet using audio.csv

(27 vars, 491 obs)

#### Converting dates and generating indicators of post-randomization and on-drug measurements

. g intStartDate = date(startdate, "MDY")

. g intStopDate = date(stopdate, "MDY")

. g intVisitDate = date(visitdate, "MDY")

. g postRand = 0

. replace postRand = 1 if intVisitDate > intStartDate

(382 real changes made)

. replace postRand = . if intVisitDate==. | intStartDate == .

(0 real changes made)

. g onDrug = 0

. replace onDrug = 1 if postRand==1 & intVisitDate <= intStopDate

(371 real changes made)

. replace onDrug = . if intStopDate == . | postRand == .

(0 real changes made)

#### Generating variables for problem 1a and providing descriptive statistics of counts over all cases in the file
. egen nR4000 = count(r4000), by(subject)

. table nR4000

   nR4000 |      Freq.

        1 |          2

        2 |         54

        3 |         42

        4 |         80

        5 |         85

        6 |        192

        7 |         28

        8 |          8

#### From this list we quickly see that there are 6 records for each subject (I did not need to look at all 192 lines

#### before recognizing the problem

. list subject if nR4000 == 6

     | subject |

     |---------|

 17. |    1003 |

 18. |    1003 |

 19. |    1003 |

 20. |    1003 |

 21. |    1003 |

     |---------|

 22. |    1003 |

 23. |    1004 |

 24. |    1004 |

 25. |    1004 |

 26. |    1004 |

     |---------|

 27. |    1004 |

 28. |    1004 |

 29. |    1005 |

 30. |    1005 |

 31. |    1005 |

     |---------|

 32. |    1005 |

 33. |    1005 |

 34. |    1005 |

(many lines of output deleted)

480. |    2069 |

481. |    2069 |

482. |    2069 |

483. |    2069 |

484. |    2069 |

     |---------|

485. |    2069 |

486. |    2070 |

487. |    2070 |

488. |    2070 |

489. |    2070 |

     |---------|

490. |    2070 |

491. |    2070 |

     +---------+

#### Knowing that there were 6 lines for each subject, I could use the results from the previous table and divide by 6

. disp 192 / 6

32

#### Generating variables to identify a unique row for each subject. In this, I figure that every subject in the file

#### will have some earliest visit. The things that I will need to check is that there is not missing data for the

#### visit date and that no subject has two lines in the file with the same visit date.

. egen mindate= min(intVisitDate), by(subject)

#### Watching the output from the following command as it was printed showed only 1 case for each subject

. table subject if mindate==intVisitDate

----------------------

  Subject |      Freq.

----------+-----------

     1001 |          1

     1002 |          1

     1003 |          1

     1004 |          1

     1005 |          1

     1006 |          1

(many lines of output deleted)

     2068 |          1

     2069 |          1

     2070 |          1

----------------------

#### And there were no cases who were missing data for all visit dates

. table subject if mindate==.

no observations

r(2000);

#### I did not specifically ask you to look at this, but you should learn to never trust that data

#### is collected according to plan. So we should look to see how many times the earliest visit date

#### was after randomization.

####

#### If we are missing pre-randomization data, this will have ramifications if I try to take the

#### difference between post randomization values and a baseline value. I will be interested

#### in when my earliest measurement is made relative to randomization, so I create a variable

#### that measures the time from start to the earliest measurement date.

. g timeOnTrt= intVisitDate - intStartDate

. list subject dose startdate stopdate visitdate visit timeOnTrt if mindate > intStartDate & 

> mindate==intVisitDate

     | subject   dose    startdate     stopdate    visitdate   visit   timeOn~t |

118. |    1017      0     4/7/2005     5/3/2006    5/12/2005       4         35 |

250. |    1027     .5    8/24/2005    8/24/2006    8/26/2005       0          2 |

307. |    1033    .25   10/11/2005   10/10/2006   11/23/2005       4         43 |

338. |    1037      0   10/21/2005    11/2/2006    11/1/2005       0         11 |

385. |    1041    .25    12/5/2005     3/8/2006    12/7/2005       0          2 |

387. |    1042      0    12/6/2005     1/9/2007   12/30/2005       0         24 |

434. |    1046     .5    2/20/2006   11/28/2006     3/1/2006       0          9 |

474. |    2068      0     3/6/2006     4/2/2007    4/15/2006       4         40 |

#### I am interested in looking at both the tables and the descriptive statistics.

#### There are only three levels of dose and the maximum number of visits was 8

#### so the table is manageable. But it is also useful to be able to describe the

#### mean and median number of visits.

. table dose nR4000 if mindate==intVisitDate

          |                     nR4000                    

     Dose |    1     2     3     4     5     6     7     8

        0 |          9     5     5     5    14     1      

      .25 |          9     4     7     6    10     1      

       .5 |    2     9     5     8     6     8     2     1

. tabstat nR4000 if mindate==intVisitDate, stat(n mean sd min q max) col(stat) by(dose)

Summary for variables: nR4000

     by categories of: dose (Dose)

    dose |         N      mean        sd       min       p25       p50       p75       max

       0 |        39  4.333333  1.675416         2         3         5         6         7

     .25 |        37  4.189189  1.613103         2         3         4         6         7

      .5 |        41  4.073171  1.808179         1         2         4         6         8

   Total |       117  4.196581  1.692984         1         3         4         6         8

#### Now I generate the variables needed for problem #2 based on the means and generate the descriptive statistics

. egen mR4000= mean(r4000), by(subject)

. egen mL4000= mean(l4000), by(subject)

. tabstat r4000 l4000 mR4000 mL4000, stat(n mean sd min q max) col(stat) by(dose) long

dose         variable |         N      mean        sd       min       p25       p50       p75       max

0               r4000 |       169  42.10059   25.9153         0        20        35        65        95

                l4000 |       169  46.39053  25.17773         0        25        45        65        95

               mR4000 |       169  42.10059  25.72613  6.666667        20  35.83333  65.83334  90.83334

               mL4000 |       169  46.39053  25.01162  4.166667        25        48  64.16666      92.5

.25             r4000 |       155  43.83871  25.65897         5        25        40        60       110

                l4000 |       155  46.35484  25.17026        10        25        40        60       105

               mR4000 |       155  43.83871  25.34566         7        27        40      57.5       107

               mL4000 |       155  46.35484  24.93337        10        29        40     58.75        99

.5              r4000 |       167  41.22754  22.65819        -5        20        35        60        85

                l4000 |       167  43.65269  21.85272         5        25        40        60        85

               mR4000 |       167  41.22754  22.23778       2.5      22.5  35.83333    60.625  84.28571

               mL4000 |       167  43.65269    21.401        11  25.83333  44.16667        65        83

Total           r4000 |       491  42.35234  24.74391        -5        20        35        60       110

                l4000 |       491  45.44807  24.08113         0        25        45        65       105

               mR4000 |       491  42.35234  24.44371       2.5  23.33333  36.66667    60.625       107

               mL4000 |       491  45.44807  23.80531  4.166667  25.83333      42.5  64.16666        99

. tabstat r4000 l4000 mR4000 mL4000 if mindate==intVisitDate, stat(n mean sd min q max) col(stat) 
> by(dose) long

dose         variable |         N      mean        sd       min       p25       p50       p75       max

0               r4000 |        39  43.20513  25.96777         5        20        35        65        90

                l4000 |        39  44.87179  25.19626         5        20        45        65        90

               mR4000 |        39  43.63034  26.25878  6.666667      22.5  36.66667  65.83334  90.83334

               mL4000 |        39  46.16361  25.51592  4.166667      22.5        48  64.16666      92.5

.25             r4000 |        37  41.35135  24.11341         5        25        35        50       105

                l4000 |        37  43.91892  23.39679        10        25        40        55       105

               mR4000 |        37  41.46943  24.47682         7        25      37.5        50       107

               mL4000 |        37  43.95882  22.88379        10        29        40        55        99

.5              r4000 |        41  35.60976  22.31017         5        20        30        55        85

                l4000 |        41   39.5122  21.02989        10        20        35        55        85

               mR4000 |        41   37.5196  21.92974       2.5  20.83333  31.66667      57.5  84.28571

               mL4000 |        41  41.18685  20.49308        11  21.66667        40        55        83

Total           r4000 |       117  39.95726  24.16266         5        20        35        55       105

                l4000 |       117  42.69231  23.15185         5        20        40        55       105

               mR4000 |       117  40.80561  24.17194       2.5      22.5  35.83333  58.33333       107

               mL4000 |       117  43.72237  22.91083  4.166667        25  41.66667      57.5        99

#### Now I generate the variables needed for problem #3 based on the means after starting drug

#### and generate the descriptive statistics

. egen grbg= mean(r4000) if postRand==1, by(subject)

(109 missing values generated)

. egen mTrtR4000 = mean(grbg), by(subject)

(2 missing values generated)

. drop grbg

. egen grbg= mean(l4000) if postRand==1, by(subject)

(109 missing values generated)

. egen mTrtL4000 = mean(grbg), by(subject)

(2 missing values generated)

. g DmTrtR4000 = mTrtR4000 - r4000

(2 missing values generated)

. g DmTrtL4000 = mtrtL4000 - l4000

(2 missing values generated)

. drop grbg

. egen grbg= mean(r4000) if onDrug==1, by(subject)

(120 missing values generated)

. egen mDrgR4000= mean(grbg), by(subject)

(4 missing values generated)

. drop grbg

. egen grbg= mean(l4000) if onDrug==1, by(subject)

(120 missing values generated)

. egen mDrgL4000= mean(grbg), by(subject)

(4 missing values generated)

. g DmDrgR4000 = mDrgR4000 - r4000

(4 missing values generated)

. g DmDrgL4000 = mDrgL4000 - l4000

(4 missing values generated)

. tabstat mTrtR4000 mTrtL4000 DmTrtR4000 DmTrtL4000 mDrgR4000 mDrgL4000 DmDrgR4000 DmDrgL4000 if mindate

> ==intVisitDate, stat(n mean sd min q max) col(stat) by(dose) long

dose         variable |         N      mean        sd       min       p25       p50       p75       max

0           mTrtR4000 |        39  43.69872  26.41092         7        20        37        66        91

            mTrtL4000 |        39  46.70421  25.61043         3        25        48  65.83334        93

           DmTrtR4000 |        39  .4935897  4.867821     -12.5      -2.5         0         5        10

           DmTrtL4000 |        39  1.832418  4.039627        -7         0         2         5        11

            mDrgR4000 |        39   43.5641  26.17695         7        20        37     66.25        91

            mDrgL4000 |        39  46.59738   25.5129       2.5        25        48  65.83334        93

           DmDrgR4000 |        39  .3589744  4.678406     -12.5      -2.5         0         5        10

           DmDrgL4000 |        39   1.72558  4.014915      -7.5         0         2         5     11.25

.25         mTrtR4000 |        37  41.77252   24.9197      6.25        25        40        55     107.5

            mTrtL4000 |        37  44.04279  22.83645        10  28.33333        40        55      97.5

           DmTrtR4000 |        37  .4211711  6.207166 -13.33333 -3.333332         0         4        20

           DmTrtL4000 |        37  .1238738  4.446034       -15        -1         0         3  8.333332

            mDrgR4000 |        37  41.78378  24.90329  6.666667        25        40        55     107.5

            mDrgL4000 |        37  44.02252  22.81088        10  28.33333        40        55      97.5

           DmDrgR4000 |        37  .4324324  6.199762 -13.33333 -3.333332         0         4        20

           DmDrgL4000 |        37  .1036036  4.429158       -15         0         0         3  8.333332

.5          mTrtR4000 |        39  37.00702  21.89779        -5        20     31.25  58.33333  84.16666

            mTrtL4000 |        39  40.52564  20.54467     11.25        22        35      52.5      82.5

           DmTrtR4000 |        39  2.648046  6.445752       -15         0       2.5         5  17.85714

           DmTrtL4000 |        39  2.064103  7.001787       -10      -2.5  1.666666         6        25

            mDrgR4000 |        38  37.14693   22.1652        -5        20    31.875  58.33333  84.16666

            mDrgL4000 |        38  40.74342  20.75818        10        22      37.5      52.5      82.5

           DmDrgR4000 |        38  2.410088  6.363353       -15         0  1.666667         5        17

           DmDrgL4000 |        38  2.059211  7.008519       -10      -2.5  1.833333         6        24

Total       mTrtR4000 |       115  40.80963  24.42449        -5        20  36.66667        60     107.5

            mTrtL4000 |       115  43.75259  23.03435         3        25        41        60      97.5

           DmTrtR4000 |       115  1.200932  5.916059       -15 -1.666664         1         5        20

           DmTrtL4000 |       115  1.361284  5.363335       -15        -1      1.25         5        25

            mDrgR4000 |       114  40.84722  24.41958        -5        20  36.66667        60     107.5

            mDrgL4000 |       114  43.81036  23.05669       2.5        25      41.5        60      97.5

           DmDrgR4000 |       114   1.06652  5.811698       -15 -1.666664         1         5        20

           DmDrgL4000 |       114  1.310359   5.33655       -15        -1  .9166679         5        24

#### Now I generate the variables needed for problem #4 based on the maximum and generate the descriptive statistics
. drop grbg
. egen grbg= max(r4000) if postRand==1, by(subject)

(109 missing values generated)

. egen mxTrtR4000= mean(grbg), by(subject)

(2 missing values generated)

. drop grbg

. egen grbg= max(r4000) if onDrug==1, by(subject)

(120 missing values generated)

. egen mxDrgR4000= mean(grbg), by(subject)

(4 missing values generated)

. g DmxTrtR4000= mxTrtR4000 - r4000

(2 missing values generated)

. g DmxDrgR4000= mxDrgR4000 - r4000

(4 missing values generated)

. drop grbg

. egen grbg= max(l4000) if postRand==1, by(subject)

(109 missing values generated)

. egen mxTrtL4000= mean(grbg), by(subject)

(2 missing values generated)

. drop grbg

. egen grbg= max(l4000) if onDrug==1, by(subject)

(120 missing values generated)

. egen mxDrgL4000= mean(grbg), by(subject)

(4 missing values generated)

. g DmxTrtL4000= mxTrtL4000 - l4000

(2 missing values generated)

. g DmxDrgL4000= mxDrgL4000 - l4000

(4 missing values generated)

. tabstat mxTrtR4000 mxTrtL4000 DmxTrtR4000 DmxTrtL4000 mxDrgR4000 mxDrgL4000 DmxDrgR4000 DmxDrgL4000 if

>  mindate==intVisitDate, stat(n mean sd min q max) col(stat) by(dose) long

dose         variable |         N      mean        sd       min       p25       p50       p75       max

0          mxTrtR4000 |        39  45.89744  26.32969        10        20        45        70        95

           mxTrtL4000 |        39  49.10256  26.15419         5        25        50        70        95

          DmxTrtR4000 |        39  2.692308   5.94339       -10         0         5         5        15

          DmxTrtL4000 |        39  4.230769  4.664883        -5         0         5         5        15

           mxDrgR4000 |        39  45.51282  25.79767        10        20        45        70        95

           mxDrgL4000 |        39  48.84615  25.86558         5        25        50        70        95

          DmxDrgR4000 |        39  2.307692  5.601475       -10         0         0         5        15

          DmxDrgL4000 |        39  3.974359  4.613979        -5         0         5         5        15

.25        mxTrtR4000 |        37  44.59459  25.93738        10        25        40        60       110

           mxTrtL4000 |        37  46.75676  23.19052        10        30        45        60       100

          DmxTrtR4000 |        37  3.243243   7.28547       -10         0         0         5        25

          DmxTrtL4000 |        37  2.837838  4.935774       -10         0         0         5        15

           mxDrgR4000 |        37  44.59459  25.93738        10        25        40        60       110

           mxDrgL4000 |        37  46.62162   23.2156        10        30        45        60       100

          DmxDrgR4000 |        37  3.243243   7.28547       -10         0         0         5        25

          DmxDrgL4000 |        37  2.702703  4.800838       -10         0         0         5        15

.5         mxTrtR4000 |        39  39.61538  23.54684        -5        20        35        60        85

           mxTrtL4000 |        39  43.46154   21.6173        15        25        40        55        85

          DmxTrtR4000 |        39   5.25641  8.580019       -15         0         5        10        40

          DmxTrtL4000 |        39         5  9.032106       -10         0         5        10        40

           mxDrgR4000 |        38  39.86842  23.80912        -5        20      37.5        60        85

           mxDrgL4000 |        38  43.81579  21.79246        15        25        40        55        85

          DmxDrgR4000 |        38  5.131579  8.659227       -15         0         5        10        40

          DmxDrgL4000 |        38  5.131579   9.11539       -10         0         5        10        40

Total      mxTrtR4000 |       115  43.34783  25.21592        -5        25        40        60       110

           mxTrtL4000 |       115  46.43478  23.64546         5        30        45        60       100

          DmxTrtR4000 |       115   3.73913  7.370028       -15         0         5         5        40

          DmxTrtL4000 |       115  4.043478  6.552609       -10         0         5         5        40

           mxDrgR4000 |       114  43.33333  25.09863        -5        25        40        60       110

           mxDrgL4000 |       114  46.44737  23.59057         5        30        45        60       100

          DmxDrgR4000 |       114  3.552632  7.308732       -15         0         5         5        40

          DmxDrgL4000 |       114  3.947368  6.533565       -10         0         5         5        40

. log close

      name:  <unnamed>

       log:  z:documents\teach\courses\b517\f12\hw3Stata.log

  log type:  text

 closed on:  28 Oct 2012, 08:08:15

